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Bu testin cevaplanni, cevap anahtarinda
YABANCI DIL siitununa isaretleyiniz.

Which of the following shows "permission™?
Asagidakilerden hangisi "izin" c imlesidir?

A) Can you help me?

B) Can you spell your name?

C) Can | open the window?

D) Can you give me that pencil?
E) Can he drive a car?

My name is Jack.

Which of the following is the question for the
above answer?

Yukarnida verilen cevabin
asagidakilerden hangisidir?

sSorusu

Who is that?

What is his name?
Is his name Jack?
What is your name?
Are you Bob?

nooux

EaT10} oo photographs now.

Which of the
sentence above?

following completes the

Asadgidakilerden hangisi yukandaki cimleyi
dogru olarak tamamlar?

A) have taken
) taken

) is taking
) take

) taking

mooOow

John : Would you prefer Chinese food ..........
Italian food?
Sue : | prefer ltalian food.

Which of the following completes the dialogue
above?

Asagidakilerden hangisi yukaridaki
konugmayi dogru olarak tamamlar?

A) of
B) for
C) on
D) from
E) or

A

25

A

Which of the following completes the dialogue
above?

Bob s vsavsansiiisinsm
Joe : Tum left, It is on the right.

Asagidakilerden hangisi yukaridaki
konugmayi dogru olarak tamamlar?

A) Could you bring me the dictionary?

B) Can you tell me the way to the station?
C) Is it very far from the hospital?

D) What would you like to do?

E) Would you like to drink tea?

| 21]| SH—— a post office on Newton Street?
Jack : No, there isn't.

Which of the following completes the dialogue
above?

Asagidakilerden hangisi yukaridaki
konugmayi dogru olarak tamamlar?

A) Wil you
B) Whatis
C) Isthere
D) Isit

E) Where

Joe . Will you be home tonight?
Bob:............ . | will be at work.

Which of the following completes the dialogue
above?

Asagidakilerden hangisi yukaridaki
konugmayi dogru olarak tamamlar?

A) No, lwon't
B) Yes, lcan
C) No, youdon't
D) Yes, we are
E) No, I'm not

Bob is 22 years old. Jack is 26 years old.

Which of the following is true for the situation
above?

Yukarida verilen duruma
asagidakilerden hangisi dogrudur?

gore

A) Bob is taller than Jack.

B) Bob is youngerthan Jack.
C) Bob is older than Jack.

D) Jack is lighter than Bob.
E) Jackis younger than Bob.

izleyen sayfaya geciniz.
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9,

10.

1.

12.

Sue : When does the supermarket open on
Sundays?

Which of the following completes the dialogue
above?

Asagidakilerden hangisi yukaridaki
konusmayi dogru olarak tamamlar?

A) ltis five o'clock.

B) It opens atten.

C) They close on weekdays.
D) Yes, they are closed.

E) Itisvery far.

Jane likes houses ................. have big
balconies.
Which of the following completes the

sentence above?

Asagidakilerden hangisi yukaridaki ciimleyi
dogru olarak tamamlar?

A) when
B) where
C) who
D) what
E) which

Bob : How much are the lemons?
Balesman § s

Which of the following completes the dialogue
above?

Asadgidakilerden hangisi yukarnidaki
konugmayi dogru olarak tamamlar?

A) There aren't any tomatoes.

B) Itis cheaperin Maxi Market.
C) Theyare 2 TL a kilo.

D) Itis very expensive.

E) You can buy some lemons.

Sue : Where were you yesterday?
Sandy ;.o

Which of the following completes the dialogue
above?

Asagidakilerden hangisi yukaridaki
konusmayi dogru olarak tamamlar?

A} | was at school.

B) | will be in Paris.

C) | can go to the cinema.
D) I'm at the hospital.

E) | may be at home.

A

26

13.

14.

15.

16.

A

Which of the following completes the dialogue
above?

o T
Jane : | come from the USA.

Asagidakilerden hangisi yukaridaki
konugmayi dogru olarak tamamlar?

A) Where do you come from?

B) Where are you going?

C) Are you coming from the school?
D) Are you living in the USA?

E) Where is she from?

Jill : Would you like a drink?
Bob: St

Which of the following completes the dialogue
above?

Asagidakilerden hangisi yukaridaki
konugmayi dogru olarak tamamlar?

A) No, you aren't.
B) Yes, he does.
C) Yes, itis.

D) Yes, please.
E) No, you won't.

Jack wants to buy a new car, so he .........oooevns
some money.

Which of the
sentence above?

following completes the

Asagidakilerden hangisi yukandaki cimleyi
dogru olarak tamamlar?

A) sells
B) gives
C) comes
D) needs
E) shows

Jane : What size is that hat?
Salesman i iswivsiaia i

Which of the following completes the dialogue
above?

Asagidakilerden hangisi yukaridaki
konugmayi dogru olarak tamamlar?

A) It is the wrong size.
B) Itis yellow.

C) Itistwenty TL.

D) Itisbig.

E) Itis size two.

izleyen sayfaya geciniz.



2010 YS 2300-A

17.

18.

19.

20.

Paul ........coesnnnn his umbrella last night.

Which of the following
sentence above?

completes the

Asagidakilerden hangisi yukaridaki cumleyi
dogru olarak tamamlar?

A) lose

B) lost

C) can lose

D) islosing

E) losing

Bob ............. leave the party early because he

has an exam tomormow.

Which of the following
sentence above?

completes the

Asagidakilerden hangisi yukaridaki ciimleyi
dogru olarak tamamlar?

A) has

B) ishaving
C) has got
D) hasto

E) can have

Bill : How can | get to the hospital?
Jack : You can go .............. foot.

Which of the following completes the dialogue
above?

Asagidakilerden hangisi yukarnidaki
konugmayi dogru olarak tamamlar?

A)  with
B) by
C) lo
D) on
E) of

Julia is waiting ............ her sister in front of the
cinema.

Which of the following the
sentence above?

completes

Asagidakilerden hangisi yukandaki ciimleyi
dogru olarak tamamlar?

A) in
B) for
C) on
D) of
E) at

27

21.

22,

23.

24,

A

the

When Jack entered the hotel room, he saw a
MOUSE .vvvvevvinrinnnns his bed.

Which of the
sentence above?

following completes

Asagidakilerden hangisi yukaridaki cumleyi
dogru olarak tamamlar?

A) of

B) atthe back
C) into

D) in front

E) under

;- | o [ i,
Bill : I'm an engineer,

Which of the following completes the dialogue
above?

Asagidakilerden hangisi yukaridaki
konugmayi dogru olarak tamamlar?

A) Are you working in an office?
B) What is your occupation?

C) Is he a businessman?

D) What are you doing?

E) What's his job?

Bill : How are you today?
Joe : | don't feel well. | have got ............
headache.

Which of the following completes the dialogue
above?

Asagidakilerden hangisi yukaridaki
konugmayi dogru olarak tamamlar?

A)  with
B) of
C) the
D) an
E) a

Jill: ool is Antalya from Ankara?
Jack : It's 544 km.

Which of the following completes the dialogue
above?

Asagidakilerden hangisi yukaridaki
konusmayi dogru olarak tamamlar?

A) How far
B) How much
C) When

D) Can you
E) What

izleyen sayfaya geciniz.
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25,

26.

27.

28.

"What's the weather like in Ankara?"

Which of the following cannot be the answer
of the above question?

Asagidakilerden hangisi yukaridaki sorunun
cevabi olamaz?

A) There is some fog.

B) Itis cool.

C) ltisyours.
D) Itis snowing.
E) Itisraining.

Bob : How long does it take to go to the
seaside?
Bill e

Which of the following completes the dialogue
above?

Asadgidakilerden hangisi yukarnidaki
konugsmayi dogru olarak tamamlar?

A) ltis five o'clock.
B) Itis on Monday.
C) It takes an hour.
D) ltisin January.
E) Itisin summer.

There are ................. students in the classroom.

Which of the
sentence above?

following completes the

Asagidakilerden hangisi yukandaki cimleyi
dogru olarak tamamlar?

A) much
B) alot
C) any
D) a little
E) afew

George is very good ............... basketball.

Which of the following
sentence above?

completes the

Asagidakilerden hangisi yukaridaki ciimleyi
dogru olarak tamamlar?

A) at
B) on
C) of
D) in
E) or

28

A

29. Jack : What's the date today?

30.

SUE : i

Which of the following completes the dialogue
above?

Asagidakilerden hangisi yukaridaki
konugmayi dogru olarak tamamlar?

A) Itisin July.

B) Itis half past eight.

C) Itis winter.

D) It is July the fourteenth.
E) Itis Wednesday.

Bob has lived in Athens .................... 1996,

Which of the
sentence above?

following completes the

Asagidakilerden hangisi yukandaki ciimleyi
dogru olarak tamamlar?

A) since
B) for
C) just
D) yet
E) stil

TEST BITTI.



